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Walk | Run
Walk | 1,3 | 5,17
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Fix a Stackelberg leader, say player 1.
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Stackelberg Equilibrium: Player 1(Stackelberg leader) chooses the action that
gives her the highest payoff, given that Player 2(Stackelberg follower) will
best respond.
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Notice that (Walk, Run) is not a Nash Equilibrium of the normal form game.
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Figure out player 2’s best response for every action choice of player 1.

Walk | Run
Walk | 1,3 | 5,17x
Run | 2,2x | 9,0

Stackelberg Equilibrium: Player 1(Stackelberg leader) chooses the action that
gives her the highest payoff, given that Player 2(Stackelberg follower) will
best respond.

(Walk, Run).

Notice that (Walk, Run) is not a Nash Equilibrium of the normal form game.

What is the Stackelberg Equilibrium with player 2 as the Stackelberg leader?
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Is the Stackelberg Equilibrium payoff for the Stackelberg leader at least as
high as her highest Nash Equilibrium payoff?
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COUPLE OF QUESTIONS

Is the Stackelberg Equilibrium payoff for the Stackelberg leader at least as
high as her highest Nash Equilibrium payoff?

Is it possible for a player to prefer being a Stackelberg follower to being the
leader?
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